
 
 

10.3 Arcs and Chords 
Geometry CP 

Recall:  What is a chord of a circle? 
 
 
 

Theorem 10.2 

In the same circle, or in 
congruent circles, two minor 

arcs are congruent if and only if 
their corresponding chords are 

congruent. 

 
 

1. Find the measure of . 
 

 
 
 
 
 
 
 
 
 
 
 
 
 

2.  In .  Find ,⊙W  S.R  

 
 
 
 
 
 
 

3. Find the value of x  

 
 
 
 
 
 
 

4. Find the value of x  

 
 
 
 
 
 

https://www.codecogs.com/eqnedit.php?latex=%5Coverarc%7BAD%7D%0
https://www.codecogs.com/eqnedit.php?latex=%5Coverarc%7BRS%7D%0
https://www.codecogs.com/eqnedit.php?latex=%5Ccong%0
https://www.codecogs.com/eqnedit.php?latex=%5Coverarc%7BTV%7D%0
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5. Find the value of x  

 
 

  

 
 
 
 
 

 
 
 
 

Theorem 10.3 

If a diameter of a circle is 
perpendicular to a chord, then 
the diameter bisects the chord 

and its arc 

 

 

Theorem 10.4 
If one chord is a perpendicular 
bisector of another chord, then 

the first chord is a diameter. 

 
 

6. In :⊙ S  

a.  .  Find . 
 
 
 
 

b. Find RP  
 

https://www.codecogs.com/eqnedit.php?latex=m%5Coverarc%7BPQR%7D%3D98%5E%5Ccirc%0
https://www.codecogs.com/eqnedit.php?latex=m%5Coverarc%7BPQ%7D%0
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7. In , Find  Round to the nearest hundredth.⊙ R V . T  

 
 
 
 

8. Determine whether  is a diameter of the circle.AB  
 
 
 
 
 
 
 
 
 
 
 

Theorem 10.5 

In the same circle, or in congruent 
circles, two chords are congruent if 

and only if they are equidistant 
from the center. 

 

 
9. , and .  Find B , DEA = 8  = 8 DC = 5 FC  
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10. Find the value of x in .  Provide a theorem or postulate to justify your reasoning.Q  ⨀  
 

a.   
 
 
 
 
 
 
 
 
 
 

b.   
 
 
 
 
 
 
 
 
 

c.  
 
 
 
 
 
 
 
 
 
 

10.   In Find , WX Y 2.  ⊙ A  = X = 2 BA  
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11. In  and .  Find each measure., JK 0⊙ P  = 1  
a.  

 
 
 
 
 
 
 

b. QP  

https://www.codecogs.com/eqnedit.php?latex=m%5Coverarc%7BJLK%7D%3D134%0
https://www.codecogs.com/eqnedit.php?latex=m%5Coverarc%7BJL%7D%0

